Vendor Name:			· · · · ·			Darling Ir	gredients, Inc-Da		Hamby's Commercial Waste, Inc.			
	Terms:			Net 30 Days			Net 30 Days			Net 30 Days		
Item #	School	Size of Trap	Price Per Gallon	Unit Price	Extended Price - Unit Price x 3 Cleanings Per Year	Price Per Gallon	Unit Price	Extended Price - Unit Price x 3 Cleanings Per Year	Price Per Gallon	Unit Price	Extended Price - Unit Price x 3 Cleanings Per Year	
	Elementary Schools											
1	Acworth	1500	0.1750	\$262.50	\$787.50	\$0.1525	\$228.75	\$686.25	\$0.152	\$228.00	\$684.00	
2	Addison	1650	0.1750	\$288.75	\$866.25	\$0.1525	\$251.63	\$754.88	\$0.152	\$250.80	\$752.40	
3	Argyle	1650	0.1750	\$288.75	\$866.25	\$0.1525	\$251.63	\$754.88	\$0.152	\$250.80	\$752.40	
4	Austell	1000	0.1750	\$175.00	\$525.00	\$0.1525	\$152.50	\$457.50	\$0.152	\$152.00	\$456.00	
5	Baker	1650	0.1750	\$288.75	\$866.25	\$0.1525	\$251.63	\$754.88	\$0.152	\$250.80	\$752.40	
6	Bells Ferry	3000	0.1750	\$525.00	\$1,575.00	\$0.1525	\$457.50	\$1,372.50	\$0.152	\$456.00	\$1,368.00	
7	Belmont Hills	330	0.1750	\$57.75	\$173.25	\$0.1525	\$50.33	\$150.98	\$0.152	\$50.16	\$150.48	
8	Big Shanty	1100	0.1750	\$192.50	\$577.50	\$0.1525	\$167.75	\$503.25	\$0.152	\$167.20	\$501.60	
9	Birney	1650	0.1750	\$288.75	\$866.25	\$0.1525	\$251.63	\$754.88	\$0.152	\$250.80	\$752.40	
10	Blackwell	1650	0.1750	\$288.75	\$866.25	\$0.1525	\$251.63	\$754.88	\$0.152	\$250.80	\$752.40	
11	Brumby	825	0.1750	\$144.38	\$433.13	\$0.1525	\$125.81	\$377.44	\$0.152	\$125.40	\$376.20	
12	Bryant	2420	0.1750	\$423.50	\$1,270.50	\$0.1525	\$369.05	\$1,107.15	\$0.152	\$367.84	\$1,103.52	
13	Bullard	1500	0.1750	\$262.50	\$787.50	\$0.1525	\$228.75	\$686.25	\$0.152	\$228.00	\$684.00	
14	Chalker	1650	0.1750	\$288.75	\$866.25	\$0.1525	\$251.63	\$754.88	\$0.152	\$250.80	\$752.40	
15	Cheatham Hill	1650	0.1750	\$288.75	\$866.25	\$0.1525	\$251.63	\$754.88	\$0.152	\$250.80	\$752.40	
16	Clarkdale	1500	0.1750	\$262.50	\$787.50	\$0.1525	\$228.75	\$686.25	\$0.152	\$228.00	\$684.00	
17	Clay	825	0.1750	\$144.38	\$433.13	\$0.1525	\$125.81	\$377.44	\$0.152	\$125.40	\$376.20	
18	Compton	1100	0.1750	\$192.50	\$577.50	\$0.1525	\$167.75	\$503.25	\$0.152	\$167.20	\$501.60	
19	Davis	1650	0.1750	\$288.75	\$866.25	\$0.1525	\$251.63	\$754.88	\$0.152	\$250.80	\$752.40	
20a	Dowell	1500	0.1750	\$262.50	\$787.50	\$0.1525	\$228.75	\$686.25	\$0.152	\$228.00	\$684.00	
20b	Dowell	1500	0.1750	\$262.50	\$787.50	\$0.1525	\$228.75	\$686.25	\$0.152	\$228.00	\$684.00	
21	Due West	1100	0.1750	\$192.50	\$577.50	\$0.1525	\$167.75	\$503.25	\$0.152	\$167.20	\$501.60	
22	East Side	1650	0.1750	\$288.75	\$866.25	\$0.1525	\$251.63	\$754.88	\$0.152	\$250.80	\$752.40	
23	East Valley	1100	0.1750	\$192.50	\$577.50	\$0.1525	\$167.75	\$503.25	\$0.152	\$167.20	\$501.60	
24	Fair Oaks	1100	0.1750	\$192.50	\$577.50	\$0.1525	\$167.75	\$503.25	\$0.152	\$167.20	\$501.60	
25	Ford	1100	0.1750	\$192.50	\$577.50	\$0.1525	\$167.75	\$503.25	\$0.152	\$167.20	\$501.60	
26	Frey	1650	0.1750	\$288.75	\$866.25	\$0.1525	\$251.63	\$754.88	\$0.152	\$250.80	\$752.40	
27	Garrison Mill	1650	0.1750	\$288.75	\$866.25	\$0.1525	\$251.63	\$754.88	\$0.152	\$250.80	\$752.40	
28	Green Acres	2200	0.1750	\$385.00	\$1,155.00	\$0.1525	\$335.50	\$1,006.50	\$0.152	\$334.40	\$1,003.20	
29	Harmony Leland	1100	0.1750	\$192.50	\$577.50	\$0.1525	\$167.75	\$503.25	\$0.152	\$167.20	\$501.60	
30	H.A.V.E.N. Academy	1100	0.1750	\$192.50	\$577.50	\$0.1525	\$167.75	\$503.25	\$0.152	\$167.20	\$501.60	
31	Hayes	825	0.1750	\$144.38	\$433.13	\$0.1525	\$125.81	\$377.44	\$0.152	\$125.40	\$376.20	
	Hendricks	1500	0.1750	\$262.50	\$787.50	\$0.1525	\$228.75	\$686.25	\$0.152	\$228.00	\$684.00	

	Vendor Name:			Burnum, LLC			gredients, Inc-Da	arPro Solutions	Hamby's Commercial Waste, Inc.			
	Terms:			Net 30 Days			Net 30 Days			Net 30 Days		
Item #	School	Size of Trap	Price Per Gallon	Unit Price	Extended Price - Unit Price x 3 Cleanings Per Year	Price Per Gallon	Unit Price	Extended Price - Unit Price x 3 Cleanings Per Year	Price Per Gallon	Unit Price	Extended Price - Unit Price x 3 Cleanings Per Year	
33	Hollydale	1100	0.1750	\$192.50	\$577.50	\$0.1525	\$167.75	\$503.25	\$0.152	\$167.20	\$501.60	
34	Keheley	1100	0.1750	\$192.50	\$577.50	\$0.1525	\$167.75	\$503.25	\$0.152	\$167.20	\$501.60	
35	Kemp	1500	0.1750	\$262.50	\$787.50	\$0.1525	\$228.75	\$686.25	\$0.152	\$228.00	\$684.00	
36	Kennesaw	330	0.1750	\$57.75	\$173.25	\$0.1525	\$50.33	\$150.98	\$0.152	\$50.16	\$150.48	
37	Kincaid	1650	0.1750	\$288.75	\$866.25	\$0.1525	\$251.63	\$754.88	\$0.152	\$250.80	\$752.40	
38	King Springs	825	0.1750	\$144.38	\$433.13	\$0.1525	\$125.81	\$377.44	\$0.152	\$125.40	\$376.20	
39	King Springs Primary	1650	0.1750	\$288.75	\$866.25	\$0.1525	\$251.63	\$754.88	\$0.152	\$250.80	\$752.40	
40	LaBelle	825	0.1750	\$144.38	\$433.13	\$0.1525	\$125.81	\$377.44	\$0.152	\$125.40	\$376.20	
41	Lewis	1650	0.1750	\$288.75	\$866.25	\$0.1525	\$251.63	\$754.88	\$0.152	\$250.80	\$752.40	
42	Mableton	3000	0.1750	\$525.00	\$1,575.00	\$0.1525	\$457.50	\$1,372.50	\$0.152	\$456.00	\$1,368.00	
43	McCall Primary	3500	0.1750	\$612.50	\$1,837.50	\$0.1525	\$533.75	\$1,601.25	\$0.152	\$532.00	\$1,596.00	
44	Milford	1650	0.1750	\$288.75	\$866.25	\$0.1525	\$251.63	\$754.88	\$0.152	\$250.80	\$752.40	
45	Mt. Bethel	825	0.1750	\$144.38	\$433.13	\$0.1525	\$125.81	\$377.44	\$0.152	\$125.40	\$376.20	
46	Mtn. View	1100	0.1750	\$192.50	\$577.50	\$0.1525	\$167.75	\$503.25	\$0.152	\$167.20	\$501.60	
47	Murdock	1650	0.1750	\$288.75	\$866.25	\$0.1525	\$251.63	\$754.88	\$0.152	\$250.80	\$752.40	
48	Nicholson	1650	0.1750	\$288.75	\$866.25	\$0.1525	\$251.63	\$754.88	\$0.152	\$250.80	\$752.40	
49	Nickajack	2200	0.1750	\$385.00	\$1,155.00	\$0.1525	\$335.50	\$1,006.50	\$0.152	\$334.40	\$1,003.20	
50	Norton Park	1250	0.1750	\$218.75	\$656.25	\$0.1525	\$190.63	\$571.88	\$0.152	\$190.00	\$570.00	
51	Pickett's Mill	1500	0.1750	\$262.50	\$787.50	\$0.1525	\$228.75	\$686.25	\$0.152	\$228.00	\$684.00	
52	Pitner	1500	0.1750	\$262.50	\$787.50	\$0.1525	\$228.75	\$686.25	\$0.152	\$228.00	\$684.00	
53	Powder Springs	1100	0.1750	\$192.50	\$577.50	\$0.1525	\$167.75	\$503.25	\$0.152	\$167.20	\$501.60	
54	Powers Ferry	1100	0.1750	\$192.50	\$577.50	\$0.1525	\$167.75	\$503.25	\$0.152	\$167.20	\$501.60	
55	Riverside Intermediate	1500	0.1750	\$262.50	\$787.50	\$0.1525	\$228.75	\$686.25	\$0.152	\$228.00	\$684.00	
56	Riverside Primary	1000	0.1750	\$175.00	\$525.00	\$0.1525	\$152.50	\$457.50	\$0.152	\$152.00	\$456.00	
57	Rocky Mountain	1100	0.1750	\$192.50	\$577.50	\$0.1525	\$167.75	\$503.25	\$0.152	\$167.20	\$501.60	
58	Russell	1100	0.1750	\$192.50	\$577.50	\$0.1525	\$167.75	\$503.25	\$0.152	\$167.20	\$501.60	
59	Sanders	1500	0.1750	\$262.50	\$787.50	\$0.1525	\$228.75	\$686.25	\$0.152	\$228.00	\$684.00	
60	Sedalia Park	1100	0.1750	\$192.50	\$577.50	\$0.1525	\$167.75	\$503.25	\$0.152	\$167.20	\$501.60	
61	Shallowford Falls	1650	0.1750	\$288.75	\$866.25	\$0.1525	\$251.63	\$754.88	\$0.152	\$250.80	\$752.40	
62	Smyrna	1500	0.1750	\$262.50	\$787.50	\$0.1525	\$228.75	\$686.25	\$0.152	\$228.00	\$684.00	
	Sope Creek	1100	0.1750	\$192.50	\$577.50	\$0.1525	\$167.75	\$503.25	\$0.152	\$167.20	\$501.60	
	Still	1100	0.1750	\$192.50	\$577.50	\$0.1525	\$167.75	\$503.25	\$0.152	\$167.20	\$501.60	
65	Teasley	1500	0.1750	\$262.50	\$787.50	\$0.1525	\$228.75	\$686.25	\$0.152	\$228.00	\$684.00	
66	Timber Ridge	1650	0.1750	\$288.75	\$866.25	\$0.1525	\$251.63	\$754.88	\$0.152	\$250.80	\$752.40	

	Ven	dor Name:		Burnum, LLC		Darling Ir	gredients, Inc-Da	arPro Solutions	Hamby's Commercial Waste, Inc.		
Terms			·			Net 30 Days			Net 30 Days		
Item #	School	Size of Trap	Price Per Gallon	Unit Price	Extended Price - Unit Price x 3 Cleanings Per Year	Price Per Gallon	Unit Price	Extended Price - Unit Price x 3 Cleanings Per Year	Price Per Gallon	Unit Price	Extended Price - Unit Price x 3 Cleanings Per Year
67	Tritt	1650	0.1750	\$288.75	\$866.25	\$0.1525	\$251.63	\$754.88	\$0.152	\$250.80	\$752.40
68	Varner	1100	0.1750	\$192.50	\$577.50	\$0.1525	\$167.75	\$503.25	\$0.152	\$167.20	\$501.60
69	Vaughan	1650	0.1750	\$288.75	\$866.25	\$0.1525	\$251.63	\$754.88	\$0.152	\$250.80	\$752.40
	High Schools										
70a	Allatoona HS	3000	0.1750	\$525.00	\$1,575.00	\$0.1525	\$457.50	\$1,372.50	\$0.152	\$456.00	\$1,368.00
70b	Allatoona HS (Culinary)	1000	0.1750	\$175.00	\$525.00	\$0.1525	\$152.50	\$457.50	\$0.152	\$152.00	\$456.00
71	Campbell High	2500	0.1750	\$437.50	\$1,312.50	\$0.1525	\$381.25	\$1,143.75	\$0.152	\$380.00	\$1,140.00
72	Harrison	2200	0.1750	\$385.00	\$1,155.00	\$0.1525	\$335.50	\$1,006.50	\$0.152	\$334.40	\$1,003.20
73a	Hillgrove (Culinary)	1000	0.1750	\$175.00	\$525.00	\$0.1525	\$152.50	\$457.50	\$0.152	\$152.00	\$456.00
73b	Hillgrove	3000	0.1750	\$525.00	\$1,575.00	\$0.1525	\$457.50	\$1,372.50	\$0.152	\$456.00	\$1,368.00
74	Kell	1500	0.1750	\$262.50	\$787.50	\$0.1525	\$228.75	\$686.25	\$0.152	\$228.00	\$684.00
75a	Kennesaw Mtn.	1500	0.1750	\$262.50	\$787.50	\$0.1525	\$228.75	\$686.25	\$0.152	\$228.00	\$684.00
75b	Kenneasw Mtn. (Culinary)	50	0.1750	\$8.75	\$26.25	\$150.00	\$150.00*	\$450.00	\$0.152	\$7.60	\$22.80
76	Lassiter	1650	0.1750	\$288.75	\$866.25	\$0.1525	\$251.63	\$754.88	\$0.152	\$250.80	\$752.40
77a	McEachern	2500	0.1750	\$437.50	\$1,312.50	\$0.1525	\$381.25	\$1,143.75	\$0.152	\$380.00	\$1,140.00
77b	McEachern	2500	0.1750	\$437.50	\$1,312.50	\$0.1525	\$381.25	\$1,143.75	\$0.152	\$380.00	\$1,140.00
78a	North Cobb	3000	0.1750	\$525.00	\$1,575.00	\$0.1525	\$457.50	\$1,372.50	\$0.152	\$456.00	\$1,368.00
78b	North Cobb 9th Gr. Ctr	1500	0.1750	\$262.50	\$787.50	\$0.1525	\$228.75	\$686.25	\$0.152	\$228.00	\$684.00
79	Osborne	2200	0.1750	\$385.00	\$1,155.00	\$0.1525	\$335.50	\$1,006.50	\$0.152	\$334.40	\$1,003.20
80a	Pebblebrook	3000	0.1750	\$525.00	\$1,575.00	\$0.1525	\$457.50	\$1,372.50	\$0.152	\$456.00	\$1,368.00
80b	Pebblebrook	3000	0.1750	\$525.00	\$1,575.00	\$0.1525	\$457.50	\$1,372.50	\$0.152	\$456.00	\$1,368.00
81a	Pope	3000	0.1750	\$525.00	\$1,575.00	\$0.1525	\$457.50	\$1,372.50	\$0.152	\$456.00	\$1,368.00
81b	Pope (Culinary)	2500	0.1750	\$437.50	\$1,312.50	\$0.1525	\$381.25	\$1,143.75	\$0.152	\$380.00	\$1,140.00
82a	South Cobb	3000	0.1750	\$525.00	\$1,575.00	\$0.1525	\$457.50	\$1,372.50	\$0.152	\$456.00	\$1,368.00
82b	South Cobb 9th Gr. Ctr.	1500	0.1750	\$262.50	\$787.50	\$0.1525	\$228.75	\$686.25	\$0.152	\$228.00	\$684.00
83	Sprayberry	1650	0.1750	\$288.75	\$866.25	\$0.1525	\$251.63	\$754.88	\$0.152	\$250.80	\$752.40
84	Walton	1650	0.1750	\$288.75	\$866.25	\$0.1525	\$251.63	\$754.88	\$0.152	\$250.80	\$752.40
85a	Wheeler	1500	0.1750	\$262.50	\$787.50	\$0.1525	\$228.75	\$686.25	\$0.152	\$228.00	\$684.00
85b	Wheeler	1500	0.1750	\$262.50	\$787.50	\$0.1525	\$228.75	\$686.25	\$0.152	\$228.00	\$684.00
	Middle Schools										
86	Awtrey	1650	0.1750	\$288.75	\$866.25	\$0.1525	\$251.63	\$754.88	\$0.152	\$250.80	\$752.40
87	Barber Middle	3000	0.1750	\$525.00	\$1,575.00	\$0.1525	\$457.50	\$1,372.50	\$0.152	\$456.00	\$1,368.00
88	Campbell Middle	1500	0.1750	\$262.50	\$787.50	\$0.1525	\$228.75	\$686.25	\$0.152	\$228.00	\$684.00
	Cooper	2000	0.1750	\$350.00	\$1,050.00	\$0.1525	\$305.00	\$915.00	\$0.152	\$304.00	\$912.00

Vendor Name: Burnum, LLC					Darling Ingredients, Inc-DarPro Solutions				Hamby's Commercial Waste, Inc.		
		Terms:		Net 30 Days		Net 30 Days			Net 30 Days		
Item #	School	Size of Trap	Price Per Gallon	Unit Price	Extended Price - Unit Price x 3 Cleanings Per Year	Price Per Gallon	Unit Price	Extended Price - Unit Price x 3 Cleanings Per Year	Price Per Gallon	Unit Price	Extended Price - Unit Price x 3 Cleanings Per Year
90	Daniell	6000	0.1750	\$1,050.00	\$3,150.00	\$0.1525	\$915.00	\$2,745.00	\$0.152	\$912.00	\$2,736.00
91	Dickerson	1650	0.1750	\$288.75	\$866.25	\$0.1525	\$251.63	\$754.88	\$0.152	\$250.80	\$752.40
92	Dodgen	1650	0.1750	\$288.75	\$866.25	\$0.1525	\$251.63	\$754.88	\$0.152	\$250.80	\$752.40
93	Durham	1650	0.1750	\$288.75	\$866.25	\$0.1525	\$251.63	\$754.88	\$0.152	\$250.80	\$752.40
94	East Cobb	1500	0.1750	\$262.50	\$787.50	\$0.1525	\$228.75	\$686.25	\$0.152	\$228.00	\$684.00
95	Floyd	1250	0.1750	\$218.75	\$656.25	\$0.1525	\$190.63	\$571.88	\$0.152	\$190.00	\$570.00
96a	Garrett	1650	0.1750	\$288.75	\$866.25	\$0.1525	\$251.63	\$754.88	\$0.152	\$250.80	\$752.40
96b	Garrett	1650	0.1750	\$288.75	\$866.25	\$0.1525	\$251.63	\$754.88	\$0.152	\$250.80	\$752.40
97	Griffin	3000	0.1750	\$525.00	\$1,575.00	\$0.1525	\$457.50	\$1,372.50	\$0.152	\$456.00	\$1,368.00
98	Hightower Trail	2750	0.1750	\$481.25	\$1,443.75	\$0.1525	\$419.38	\$1,258.13	\$0.152	\$418.00	\$1,254.00
99	Lindley 6 <sup>th</sup> Grade	1650	0.1750	\$288.75	\$866.25	\$0.1525	\$251.63	\$754.88	\$0.152	\$250.80	\$752.40
100	Lindley (7 <sup>th</sup> & 8 <sup>th</sup> )	1650	0.1750	\$288.75	\$866.25	\$0.1525	\$251.63	\$754.88	\$0.152	\$250.80	\$752.40
101	Lost Mountain	1650	0.1750	\$288.75	\$866.25	\$0.1525	\$251.63	\$754.88	\$0.152	\$250.80	\$752.40
102	Lovinggood	3000	0.1750	\$525.00	\$1,575.00	\$0.1525	\$457.50	\$1,372.50	\$0.152	\$456.00	\$1,368.00
103	Mabry	1650	0.1750	\$288.75	\$866.25	\$0.1525	\$251.63	\$754.88	\$0.152	\$250.80	\$752.40
104	McCleskey	1650	0.1750	\$288.75	\$866.25	\$0.1525	\$251.63	\$754.88	\$0.152	\$250.80	\$752.40
105	McClure	3000	0.1750	\$525.00	\$1,575.00	\$0.1525	\$457.50	\$1,372.50	\$0.152	\$456.00	\$1,368.00
106	Palmer	2000	0.1750	\$350.00	\$1,050.00	\$0.1525	\$305.00	\$915.00	\$0.152	\$304.00	\$912.00
107	Pine Mountain	1650	0.1750	\$288.75	\$866.25	\$0.1525	\$251.63	\$754.88	\$0.152	\$250.80	\$752.40
108	Simpson	1650	0.1750	\$288.75	\$866.25	\$0.1525	\$251.63	\$754.88	\$0.152	\$250.80	\$752.40
	Smitha	2200	0.1750	\$385.00	\$1,155.00	\$0.1525	\$335.50	\$1,006.50	\$0.152	\$334.40	\$1,003.20
110	Тарр	1100	0.1750	\$192.50	\$577.50	\$0.1525	\$167.75	\$503.25	\$0.152	\$167.20	\$501.60
				•	\$107,824.50			\$94,388.48	·	·	\$93,653.28
111	Per Section 8.9 of the Specia to anticipate all service need structure for additional, rela period. Vendors are to prov service needs that may be ic	vendors are asked at may be needed ate in the space to	to provide a fee during the award the right for		We can do emergency services for grease traps/septic at the same price per gallon. If jetting service is needed it is \$275.00 plus gallons. All include 1st hour free.  After 1st hour it is \$165.00 per hour.			\$ 94.50 per hour for Tech and \$ 34.50 for helper, if needed			
	please provide any/all rate i	niormation.						ary) price is a flat fee			

Note:

\*Line 75b Kennesaw Mtn (Culinary) price is a flat fee.